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Choose the best answer:…………………………….. (55 marks)
1- The central region of the platelet is called                 

a) Hayalomere  

b) Granulomere 

c) Cytoplasm 

d) Non of the above

2- Serum is a protein rich fluid lacking

a) Fibrinogen 

b) Fibrin

c) Albumin 

d) Globulin  

3- Blood plasma contains

a) Salts 

b) Organic compounds

c) All of the above

d) Non of the above

4- Function of Eosinophils is
a) Carry  oxygen

b) Carry CO2
c) Clotting 

d) Kill  parasitic warms

5- Transporting oxygen carbon dioxide is the function of 

a) WBCs 

b) RBCs

c) Platelets

d) Non of the above

6- Biconcave disc in shape of the red cells provides

a) Greater surface area 

b) Deformability  

c) Helps in gaseous exchange 

d) All of the above 

7- Reticulocytes are immature 

e)  WBCs 

f) RBCs

g) Platelets

h) Non of the above

8- Basophilic stippling is red cell inclusion seen in

a) Lead  poisoning 

b) Thalassemia 

c) Unstable hemoglobin

d) All of the above

9- Microcytic anemia such as

a) Iron deficiency anemia

b) Thalasemia 

c) Lead poisoning

d) All of the above

10- Granulocytes include
a) Neutrophils

b) Basophil 

c) Eosinophils 

d) All of the above

11- Normochromic, means

a) Normal  size

b) Normal  color

c) All of the above 

d) Non  of the above

12- Macrophages are 

a) Monocytes 

b) Neutrophils

c) Basophils

d) Eosinophils  

13- The average number of WBCs is ………..c/cu mm

a) 150 – 450 x103
b) 4 – 11 x103
c) 4.5 – 6 x106
d) 2 – 4 x103 

14- Deceased plasma haptoglobin indicates

a) Hemorrhagic  anemia

b) Hemolytic anemia

c) All of the above

d) Non of the above

15- Hemolytic anemia due to membrane defect such as

a) Hereditary spherocytosis

b) Iron deficiency anemia

c) Thalasemia 

d) Lead poisoning

16- Thrombocytopenia can be caused by an increase in 

a) Red  cells destruction 

b) Platelets destruction

c) WBCs destruction

d) Non of the above

17- Glucose 6phosphate dehydrogenase deficiency anemia caused by

a) Enzyme defect

b) Membrane defect

c) Hemoglobin defect

d) Hemorrhagic anemia

18- Hemoglobin A is ………. Hemoglobin

a) Adult

b) Fetal 

c) Embryonic

d) Non of the above

19- Beta thalassemia result from 

a) B12 deficiency 
b) Alpha globin gene defect

c) Beta globin gene defect

d) Non of the above

20- Serum iron is …………..in sideroblstic anemia

a) Increased 

b) Normal 

c) Decreased 

d) Non of the above

21- Eosinophils constitute ……… of leukocytes

a) 40 -70 %

b) 20 -40 %

c) 10 -20 %

d) 2 -4% 

22- The cells of first defence line against parasites is

a) Red  cells

b) Lymphophcytes

c) Eosinophils 

d) Platelets

23- A granulocytes includes

a) Monocytes 

b) Small lymphocytes

c) Large lymphocytes

d) All of the above

24- -------------- is the primary site responsible for the destruction of elliptocytes and spherocytes.
a) Bone marrow 

b) Spleen  

c) Liver

d) Non of above

25- ------------------- is red cell enzyme defect, the affected persons are often women who are susceptible to drugs.
a) Thalassemia  

b) Sickle cell

c) G6PD
d) Non of above 

26- Hb S is an abnormal hemoglobin which cause

a) G6PD anemia

b) Sickle cell anemia

c) Iron deficiency anemia

d) Megaloblastic anemia

27- Hemolytic disease of new born (HDN) is …….hemolytic anemia

a) Acquired 

b) Hereditary

c) Hemorrhagic 

d) Non of the above

28- Vitamin B12 deficiency is a

a) Marrow aplasia

b) Systemic disorder

c) Nutritional deficiency

d) Marrow replacement 

29- TIBC usually ……… in iron deficiency anemia

a) Decreased 

b) Increased 

c) Normal 

d) Non of the above

30- MCV usually ……… in megaloblastic anemia

a)  Decreased 

b) Increased 

c) Normal 

d) Non of the above

31- - RBCs diameter ranges 

a) 8 -10 µm   

b) 10 -20 µm   

c) 7 -8 µm   

d) 4 -5 µm 

32- Erythrocyte plasma membrane is composed of 

a) Lipid  bilayer

b) Lipid tilayer

c) Protein bilayer

d) Sugar monolayer

33- The main skeletal protein of red cell membrane is 

a) Hemoglobin 

b) Spectrin 

c) Fibrin 

d) Albumin

34- Erythrocytes obtain required energy from

a) Anaerobic glucose metabolisim

b) Mitochondria 

c) Golgi  apparatus

d) Cell membrane

35- Variation in red cell size:

a) Poikilocytosis.

b) Anisocytosis.

c) Reticulocytosis.

d) Leukocytosis.

36- Reticulocyte normal count is

a) 2 – 4 %

b) 1 – 2 %

c) 3 – 5%

d) 4 – 7%

37- Red cells life span is

a) 10 days

b) 50 days

c) 100 days

d) 120 days 

38- Blood is specialized……………tissue 

a) Connective 

b) Epithelial 

c) Nervous 

d) Muscle 

39- When anticoagulant blood centrifugated, the sediment is 

a) Leukocytes (WBCs)

b) Platelets

c) Erythrocytes

d) Non of the above

40- Normal adult blood volume measures 

a) 10 – 15 L

b) 5 – 10 L

c) 10 – 20 L

d) 5 – 6 L

41- The fluid component of blood is called

a) Cells 

b) Water 

c) Plasma

d) All of the above

42- In the absence of anticoagulant for blood the fluid portion is

a) Plasma 

b) Serum 

c) Cells 

d) Non of the above

43- Most cellular organelles in the red cells are

a) Present 

b) Absent

c) Non of the above

d) All of the above

44- The function of neutrophils is 

a) Active  phagocytosis

b) Carry oxygen to tissues

c) Blood clotting

d) Carry CO2
45- Red blood cells (RBCs) are ……………in shape

a) Round 

b) Triangle 

c) Squired 

d) Biconcave disck

46- Poikilocytosis means

a)   Size 

b) Color 

c) Shape

d) Non of the above

47- Iron deficiency anemia is

a) hemolytic anemia                           
b) nutrition anemia
c) macrocytic anemia                          
d) Enzyme defect anemia 

48-Dark red cell with no area of central pallor:

a) Stomatocyte.

b) Sherocyte.

c) Acanthocyte.

d) Schistocyte.

49- Anemia due to acute blood loss results in

a) Macrocytic anemia

b) Normocytic, normochromic

c) Micorcytic, hypochromic

d) Non of the above

50- Sickle cell anemia classified as ………anemia

a) Blood  loss

b) Hemolytic 

c) All  of the above 

d) Non of the above 

51- Hereditary spherocytosis anemia is due to 

a) Abnormal  hemoglobin

b) Enzyme defect 

c) B12 deficiency

d) Membrane defect 

52- Macrocytosis seen in 

a) Megaloblastic  anemia

b) Thalassemia

c) Lead poisoning

d) All of the above

53-Pappenheimer body is seen in cases of:

a) Sideroblastic anemia.

b) Iron deficiency anemia.

c) Sickle cell anemia.

d) G6PD Deficiency.

54-Immune hemolytic anemia is classified as

a) acquired anemia                                 
b) congenital anemia
c) antibody mediated                                
d) a and c are true
55-beta thalassemia is

a)  Hypochromic anemia
b)  nutrition anemia
c)  macrocytic anemia                          
d)  Enzyme defect anemia
(Good Luck)
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